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SIZE
Width:
Length:

approx. 34 cm measered at the center point
approx. 172 cm

MATERIALS

Schachenmayr Circle of Colour, 100 g ball
approx. 100 g = 430 m

Col. 00083 (sunset color) 1 ball

Size 4.0 mm needles
1 tapestry needle yarn needle for weaving in ends

GAUGE:
Basic pattern: 25 st and 36 rows = 10 x 10 cm

BASIC PATTERN

Reverse stockinette stitch

RS: purl all st, WS: knit all st.

Basic pattern: Mutiple of 9

R 1 - 4: reverse stockinette stitch.

R 5: % k7, p2, repeat from * to the end.
R 6 - 8: Work sts as they appear.

Repeat row 1 - 8.

Selvage edge stitches:

For the selvage stitches, RS: k; WS: k.

INSTRUCTIONS

NOTE: Shaping is achieved via increases and decreases at
the left edge of the work.

TIP: When you reach the center point of the shawl, you
should have 50 g of yarn remaining: be sure to weigh your
remaining yarn from time to time as you work.

If you find you are using up the yarn more quickly, simply
work fewer rows than instructed up to the center point and
begin the decreases as described.

Cast on 5 st and begin with a WS row: p5.
This row will not be counted in the following section.

Increases

Increases are made in the 1st RS row, then in every 4th row
at the end of the row before the selvage st.

In the 3 rows between the increase rows, work all st as they
appear.

Please review our full terms of use of this
pattern on our website:
© Copyright MEZ GmbH, 2020.
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Work all edge st as selvage st.
Row 1 (= RS):
selvage st, p3, M1L (lift the thread between the left and right
needles and knit into the back loop), selvage st = = 6 st.
Row 5:

selvage st, k4, M1R (lift the thread between the left and right
needles and knit into the front loop), selvage st = 7 st.

Row 9:

selvage st, p5, M1L (lift the thread between the left and right
needles and knit into the back loop), selvage st = 8 st.
Row 13:

selvage st, k6, M1R, selvage st = 9 st.

Row 17:

selvage st, p/, M1L (lift the thread between the left and right
needles and knit into the back loop), selvage st = 10 st.
Row 21: selvage st, k7, pl

MIL (lift the thread between the left and right needles and
knit into the back loop), selvage st = 11 st (= 1 pattern repeat
(9 st) between the selvage st).

Row 25 onwards: work in the basic pattern, integrating the
increases into the pattern.

Middle

When you have worked 312 R (= approx. 86 cm), you have
reached the center of the shawl.

Now work 4 R without increase or decreases.

Decreases

In the following RS row, work up to 3 st before the end of
the row, k2tog (right-leaning dec) or sl, k1, psso (left-leaning
dec) as best suits the point in the pattern, selvage st.
Repeat these decreases every 4th row until only 6 st remain.
When you have worked 628 R, in the following RS row,
bind off all st knitwise.

Total length = approx. 172 cm.

FINISHING
Dampen and block; allow to dry.
Weave in all ends with a tapestry needle.

ABBREVIATIONS

k = knit

o} = purl

RS = right side
st(s) = stitch(es)
WS = wrong side
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